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(d) None of the above



S % 4%
(5) The slope of the line passing through the points (1,-2) and (3,4) is
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(6) Which of the following can be a transition matrix for a Markov Chain
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(8) If the supply function for a commodity is p = ¢” +8¢ + 16 and the supply fo? +30+16
is p=-3¢" +6q+436,find the equilibrium point 96
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(d) None of the above
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If f(x)=5x"—x"+10, then f(x) has
@ a relative min at x=0 and a relative max at x=4
5 y (b) a relative max at x =0
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Question # 2 True or False (10%): 2 Ln2'

1) ——?‘T/i-j}/IfA,/B are two nx nmatrices such that AB = 0, then A =0 or
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Question # 1(15%) o
Find y' for the following. Y/Gu
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Question # 3 (12%)

a. Suppose you invest $8000 in each of 2 banks. The first compounds gquarterly Lr

at an annual rate of 10% and the second compounds continuously at 9%. At
the end of 5 years which has more money in it.
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b. If the total cost function is given by C(x) = x* +12x + 36. Find the minimum
average cost
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Question # 3 (20%)
A company produces two products at a total cost

C(x,y)=x*+200x+ y* +100y — xy
where x and y represent the units produced of each product. The
revenue function is

R(%,y) = 2000x — 2x* — y* +100y + xy

Find the marginal cost with respect to y at (10,20)
Find the marginal profit with respect to x at (10,20)
Find the number of units of each product that will maximize

profit
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